
L’accident du Scotia 

LeÊ13ÊavrilÊ1867,ÊlaÊmerÊestÊbelle.ÊLeÊScotiaÊseÊtrouveÊparÊ15°12’ÊdeÊlatitude.ÊPendantÊleÊpetit-
déjeunerÊdesÊpassagers,ÊunÊchocÊseÊproduitÊsurÊlaÊcoque,ÊparÊsaÊhancheÊetÊunÊpeuÊenÊarrièreÊdeÊ
laÊroueÊdeÊbabord. 

LeÊScotiaÊn’aÊpasÊheurté,Êil aÊétéÊheurté,ÊetÊplutôtÊparÊunÊinstrumentÊtranchantÊouÊperforant. 

LeÊCapitaineÊAndersonÊseÊhâteÊdeÊrassurerÊlesÊpassagersÊetÊseÊrendÊimmédiatementÊdansÊlaÊ
cale. 

Il faitÊstopperÊlesÊmachinesÊetÊl’unÊdesÊmatelotsÊplongeÊpourÊreconnaîtreÊl’avarie.ÊQuelquesÊins-
tantsÊaprès,ÊonÊconstateÊl’existenceÊd’unÊtrouÊlargeÊdeÊdeuxÊmètresÊdansÊlaÊcarèneÊdu steamer.Ê
UneÊtelleÊvoieÊd’eauÊneÊpeutÊêtreÊrebouchée;ÊetÊleÊScotiaÊdoitÊcontinuerÊainsiÊsonÊvoyage.ÊIl seÊ
trouveÊalorsÊàÊtroisÊcentsÊmillesÊduÊcapÊClear,ÊetÊaprèsÊtroisÊjoursÊd’unÊretardÊquiÊinquièteÊvive-
mentÊLiverpool,ÊilÊÊentreÊdansÊlesÊbassinsÊdeÊlaÊCompagnie. 

LesÊingénieursÊprocèdentÊalorsÊàÊlaÊvisiteÊduÊbateau,Êqui estÊmisÊenÊcaleÊsèche.ÊIls neÊpeuventÊ
pasÊenÊcroireÊleursÊyeux.ÊAÊdeuxÊmètresÊetÊdemiÊauÊdessousÊdeÊlaÊflottaisonÊs’ouvreÊuneÊdéchi-
rureÊrégulière,ÊenÊformeÊdeÊtriangleÊisocèle.ÊLaÊcassureÊdeÊlaÊtôleÊestÊd’uneÊnettetéÊparfaite.ÊIlÊfautÊ
doncÊqueÊl’outilÊperforantÊquiÊl’aÊproduiteÊsoitÊd’uneÊtrempeÊpeuÊcommune. 

D’aprèsÊJulesÊVerne,ÊVingt mille lieues sous les mers 
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